
 

Statement of Origin  
 

 

Statement of Origin 

 

Dear Valued Customer: 

 

Please be informed that our exported products listed below, if sold and destined to you, are originating from 

Taiwan. No Russian iron and steel products were used in the production of the specified goods/parts in 

accordance with Regulation (EU) No. 833/2014 

        

 

Model Description 

AVK-17 AVK-17/Anti-Vibration Wiring Kit 

BKT-DB44L DB44 Bracket Accessory Package 

BKT-PWR TRC-190 DIN-Rail Accessory Package V1.0 

DK-25-01 DK-25-01 Din Rail Kit Accessory V1.0 

DK-3121B DK-3121B/DKx1/FMSx4 M4x8 

DK-DC50131 DK-DC50131/FMSx6/M4x6 SUS Nylok 

DK-M12-305 Pack/Cover DK-M12-305 wDKx1/ScrewFMS+PMS 

DK-TN-5308 DK-TN-5308 V1.0 

DK-UC-5000 DK-UC-5000 V1.0.0 

DK-UP1200 DK-UP1200 Din Rail Kit Accessory V1.0 

DK-UP1400 DK-UP1400 Din Rail Kit Accessory V1.0 

DK-UP1400-G2 DK-UP1400-G2 V1.0.0 

DK-UP-14168 DK-UP-14168 V1.0.0 

DK-UP1600-G2 DK-UP1600-G2 V1.0.0 

DK-UP-42A DK-UP-42A V1.0.0 

MC-1100 DIN-Rail Kit MC-1100 Din-Rail Mounting Kit V1.0.0 

MC-1100 Wallmount Kit MC-1100 Wall Mount Kit V1.0.0 

MC-1220 DIN-Rail Kit MC-1220 DIN-Rail Kit V1.0.0 

MC-1220 Wallmount Kit MC-1220 Wallmount Kit V1.0.0 

MPC-MD-2-19-PMTK MPC-MD-2-19-PMTK 

MPC-MD-2-24-PMTK MPC-MD-2-24-PMTK 

Plate-1 TRC-190 Bracket Accessory Package V1.0 

RK-3U-02 RK-3U-02 V1.0.0 

UC-3100 DIN-Rail Kit UC-3100 DIN-Rail Kit V1.0.0 

UC-3100 Wall-Mounting Kit UC-3100 Wall-Mounting Kit V1.0.0 

 

 

 



 

Statement of Origin  
 

 

 

Model Description 

UC-8100A-ME DIN-Rail Kit UC-8100A-ME Din-Rail Kit 

UC-8100A-ME Wall Mount Kit UC-8100A-ME Wall Mount Kit 

UC-8100-ME Din-Rail Kit UC-8100-ME Din-Rail Kit 

UC-8100-ME Wall Mount Kit PACK/WKx2 TMSx4 Nylok 

UC-8200 Wall-mounting Kit UC-8200 Wall-mounting Kit V1.0.0 

UC-8210 DIN-rail Mounting Kit UC-8210 DIN-rail Mounting Kit V1.0.0 

UC-8220 DIN-rail Mounting Kit UC-8220 DIN-rail Mounting Kit V1.0.0 

UC-8410A DIN-rail Kit UC-8410A DIN-rail Kit V1.0.0 

V2400 Isolated Wall Mount Kit PACK/WKx2/Screw TMSx4 M4x10 Ni Nylok 

V2406C Wall mount kit V2406C Wall mount kit 

VP-06TC1L TOP Cover/VPort P06-1MP MIC (LED) V1.1.0 

VP-06TC2CS TOP Cover/VPort P06-2L CT smoked V1.0.0 

VP-FP1 Pack/VPort 06-1 Fixed Kit/FMSx2 M4x16 

VP-FP2 Pack/VPort 06-2 Fixed Kit/FMSx2 M4x16 

VP-SC02 Pack/VPort 06-2 Fixed Coverx1/PTSx4M4x12 

VP-SCO1 Pack/VPort 06-1 Fixed Coverx1/PTSx4M4x12 

VP-SScrew VP-SScrew V1.0.0 

WAC-2004 PL/WAC-2004 V2.0 DT-145/35.5x15 

WALLMOUNT-8100-01 Pack/WKx2/Screw TMSx4 M3x4 BK Nylok 

WK-112-01 WK-112-01 V1.0.0 

WK-18 Pack/WK-18x1 w/Bag 

WK-20-02 WK-20-02/WK, 20x140x2 mm, 3 screws 

WK-25 WK-25/WKx2, 43x25x2mm, FMSx4, M3x6mm 

WK-30 WK-30/Wall Mounting Kit 

WK-30-02 WK-30-02 WKx2 FMSx4 BK Nylok 

WK-35-01 Wall Mount Kit Accessory 

WK-35-02 WK-35-02 Wall Mount Kit Accessory V1.0 

WK-35-04 WK-35-04 Wall Mount Kit Accessory V1.0 

WK-36-02 WK-36-02 BKTx2 FMSx6 NI Nylok M3x6 

WK-40-01 WK-40-01/WK Ux1/WK Dx1/Screwx6 MFS M3x5 

WK-41-01 Pack/WK-41-01 

WK-44-01 WK-44-01 Rackmounting Kit Accessory V1.0 

WK-44-01 WK-44-01 Rackmounting Kit Accessory V1.0 

 

 



 

Statement of Origin  
 

 

Model Description 

WK-45-01 WK-45-01 Rackmounting Kit Accessory V1.0 

WK-45-02 WK-45-02/WK, 45x185x2 mm, 6 screws 

WK-46 WK-46/Wall Mounting Kit 

WK-46-01 WK-46-01 

WK-51-01 Pack/WKx2 FMSx6 Nylok/AWK-5222 

WK-55 Pack/WKx2 FMSx6/Stick AWK-4121 

WK-60-01 WK-60-01/Wall Mounting Kit 

WK-75 WK-75/Wall Mounting Kit 

WK-75-02 Pack/WKx2 FMSx10 Nylok/TAP-213 

WK-90-01 WK-90-01 BKTx2 FMSx6 NI Nylok M3x6 

WK-UP-14168 WK-UP-14168 V1.0.0 

WK-UP200A-BAK-SI WK-UP200A-BAK-SI V1.0.0 

WK-UP200A-BOT-SI WK-UP200A-BOT-SI V1.0.0 

WK-UP400A-BAK-BK WK-UP400A-BAK-BK V1.0.0 

WK-UP400A-BOT-BK WK-UP400A-BOT-BK V1.0.0 

WM-UC-5000 WM-UC-5000 V1.0.0 

 

This statement is valid on the date of signature and shall be effective for one (1) year. 

                                      

 

  

                                      
                                                                                  

                                               

                                            Michelle Tseng/VP, Supply Chain, Supply Chain Mgmt. Division 

                                            MOXA INC.  

                                            Date:2023/11/24 


